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h
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5 71631200 Udwndbpbuwibinh wbfu.quuni)niu npwd 36000 PLUL
6 71631100 Ywppwydnpnidubph uniniguigwiinid npud 140000 PCUL
7 66111100 Pwllwiht uwwuwnpydwl dwnwynipjnil nnwd 50000 PLUL
8 85320000 PdLwlwl pwihnutlinh uwuwgbipdnud npwd 120000 pLUL
o | esmopon | Mrndwlwzwntnd ququit quntineh puizudul nwd 2200000 | PLUL
Swnwynipjntu
10 65110000 2nh pwotudwu dwnwjnipnil nnwd 140000 PLUL
n 90500000  [Unph hGnwgdwu dwnwjnipnil nnwyd ~ 120000 PLUL
Upfuunpuitiptibpn 1820000
: 0 Uywnndbptiuwltph pupwghy unpngnud L wwhwwund apwd 1100000 ac
Pdrwlwl uwppwynpnufutinh pupwghy unpngnid b
2 50112200 LwhwwLn(§/50420000/ N 720000 pCuL
unruvevsr
Pdrywljwt wpipwhwqniuy 546000
1] 334074 |Pdjwlwl uwiwp [ huwn [ 70 ] 7800 546000 | o<
Qnuublbywlught uhnyp 375000
1 [ 39153000 [Uwwuwupwhh wennbbp [ hww | 15| 25000 | 375000 [ eou<
Cwiwlwpqswypb b yupdbuwhwbdwl vwppwynpmidubip b odwhinwly 680000
i 1 65310000  |Sdwjhu htinwfunu huwn 16 5000 80000 PCUL
2 65310000 Cwdwlwnghs /Ubpwinjw) Wwpwguubpy/ Yndwy. 2 150000 300000 PLUL
N (e (DT Priiyghuubnny huwtn 2 90000 | 180000 | POUC
Xerox,Scan,Print
4 65310000 |Unuhwinp hwdwlwngsh huwtn 2 60000 120000 PLUL




Hinnpuyp 3793662
1 33631600 Uwhnpw pdolwlwu 2ohly96%1 004 2h2 200 155 31000 QL
pi 33631600 I Tiithein aebalinling e aohli70%100:0 Aka 05 15A 290N Qc
3 33141310 Uiyn-Qt| nnunnn 3304, 2hg o0 1740 87000 D14
4 33692000 3nnh 5 % uwhpuwiht |- 304) 2n2 15 160 2400 QL
5 33661180 Lhnnluwiht 2% 204 N10 nnh 3 7320 21960 <
6 33661180 Lhnnyuwihu fwhub$phuny2% 204 N10 nnuh 5 7848 39240 aL
7 33141310 Lhnnywihu wkpngny 10% 38 dj b1 1 3527 3527 Q<
8 33616000 Ubpwnpyhs wubinny 24; huwin 1000 16 16000 QL
9 33141300 Lbpwnplhy wubinny 54 hwtn 200 17 3400 QL
10 33632110 Llhipwnplhs wutinny 10d; hwtn 150 26 3900 L
1 33632110 Lbpwplhy wubinnd 204 hwin 150 38 5700 Q<
12 33141310 Uutin ubpwpyhsh 4-22.7*30 N100 wnuh 20 600 12000 Q<
13 33141200 Uwnpwydwinhly wypnysu 3/0 hwwn 10 200 2000 G
14 33141200 Uwnpwydwwnhly wpniGu 4/0 hwin 10 200 2000 QL
15 33141200 Uwnpwddwinhy wpnjgu 5/0 hwin 10 200 2000 SL
16 33651109 (Fwugh$ 5u thwpbp 25 462 11550 QL
17 33141310 Shuyjuwlwwy 3*20 thup 20 419 8380 Q<
18 33141310 dhpwlwuy 7714ud thu 300 94 28200 Q<
19 33651102 Jdhpwuwuy 5*10ud hn 150 92 7800 Q<
20 33141310 LEynwwuwn 2.5ud*500ud hun 70 93 6510 9L
21 33651102 Ywwbinp Gpwlwihu phptinuhly G624 huwtn 80 30 2400 Q<
22 33141310 LYwunbinp bpuywiht 624 huwn 80 72 5760 AL
23 | 33692710 ::“O”(;hpuhg abinungUip ng duitpbwatinouuws, dnofb swipu | 65 1434 93210 a¢
24 33141310 Pwdpwy 50q hwin 200 100 20000 Q<
./ RRATITA UyWpibiifwtian 05 bbaddijiygwiu ol i A S161V] ouLY e
26 | 33651122 |Gwywinty thugnt N10O wnuth 40 492 19680 GC |
27 33141110 Snundbup hwun 5 4080 20400 QL
28 33651102 Luwinphnidh pinphn 0.9% 5] N10 annuh 30 285 8550 QL
29 33631600 Luwwnphnwdh phnunyduwwn Sd; 30% N10 anuh 3 442 1326 Q
30 33631600 Uwaubighnud unybwn 25% N10 winuh 8 285 855 SL
31 33616000 dhunwidhtu 8 5% 54 N10 i 3 538 1614 Q<
32 33632130 Uuw)ghu 50%2d| N10 wnuh 15 281 4215 q<
33 36752000  [hdbnpng 1%14 N10 nnuh 15 187 2805 Q<
34 33670000 |Enidhihtu wdw, 2.4 5d) wdwy N10 unnih 10 335 3350 Q<L
35 33697000 Swinyuwfununh hwunty Yuehubp 2h2 15 180 2700 qc
36 33661180 Odunwu-phuning 0.5%54] 20y 20 405 8100 <
37 33692710 Phunwnht 10%1204 220 30 881 26430 Q<
38 33631600 Stnpwlwhu whuwlwehutp 1%104) N10 22hY 1 238 238 aL
39 33631600 Qnwduh whpopuhn 3% 1004; 220y 60 87 5220 <
40 33631600 <hnpnynpunhagnt punty 15g huwn 10 238 2380 qL
41 33661180 8bpniyuy Sdq/2dg N10 nnu 2 573 1146 ac
42 33632130 Tpuwdbnwgnt wdw.4dglidp NS nnih 25 295 7375 Q<L
43 36752000 |"hipdwght 504 ' husu 5 1671 8355 <
44 33652200 | Yhpwgn) 1%5d( N10 wauh 5 401 2005 Sre
45 33622620 Uubupbghth dwg 5% 100q wnnuh 2 540 1080 qC
46 | ..-33651102 Udhwy 304 22hl 10 72 720 qc
47 33651102 Lundhynih punip 40q huin 10 291 2910 <
48 33141310 Cwlwihw)inwgdwu Julyghuw N10 wnuh 10 1560 15600 QL
49 33661180 Cwlhwlwunwnnipiwu qulghtw N5 wnuh 5 31200 156000 ql
50 33622120 Udnpuhljwy n/ywtunye156.25dg/54 22hy 40 1240 49600 qc
51 33622320 Udnpuhljwy $npwnt n/Ywtunyre 312dq/5u1004; 22hYy 40 2340 93600 L
Wdnpuhghiht (wdnpuhghiht tnphhhnpwuw),
5,) 33622150 pluynywlwpent (Gwihnih pwynywtiwwn 500/125 N20 | wnih 20 2481 49620 Q<
53 33622000 Udnpuhghiht ogwnuwl 250dg/5d(1004; 220y 60 881 52860 3
54 33693060  |8LdLUnU 1 dndhy 0.1a N10 wnth 20 371 7420 QL
55 33642200 8b$Lynu T+ dndhly 0.25dg N10 nni 20 627 12540 q<
56 33622650 bpnuypndbt n/h 0.2g N10 wnuh 400 71 28400 qc
57 33141310 Ppniypndbu 09.1000g/54] 2hy 60 720 43200 ac




; 58 33642220 Muwpwgbnwidng 500dq N10 winuh 200 30 6000 aC

59 33622100 Mupwgbunwdnih 0. 604 2hy 20 419 8380 Qc

60 33661700 Phubiuunn) 480dg N20 wnih 60 242 14520 Q<

61 33622640 Pwlwnphd opwnuwl 240dq/54;1004; 22hy 40 750 30000 Q<

62 33616060 Uuynpphuwpent gyniynquiny n/h0.1qg N10 wnuh 60 70 4200 S<

63 33612400 Uwipnunwdng gnnughp 104 $L. 50 1200 60000 Q<

64 33616000 Yhunwdht Y 3 opwiht |-p104; 22hly 400 761 304400 Q<

65 33614000 MGhhnpnt ouynhd 10.7g N1 thwp 20 177 3540 4

66 33622720 Sbdwqnthu v/t d/d upd.1q $i 60 173 10380 L

67 33662180 3tbinphwpunt 1g 220l 90 251 22590 Q<

68 33622150 Lhuinpndnipwuwnnghu 500dg N56 wnih 1 8258 8258 <

69 33673400  [Dbpnud jbb opwipwl 2hl 50 1931 96550 Q<
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{ 71 33620000 REUwnG) Ywiunype 4%104; 22hY 50 1380 69000 54

||“, 72 33141200 Mhpwuwnt; 250dg N3 wnnuh 20 603 12060 qL

73 33693050  |Fhyinpbuwl nbuiwpn 1008g N20 nnih 60 545 32700 q<

74 33141110 Thiyndtuwl 25dqg/d) 3 U N5 nnith 40 450 18000 A<

75 33622810 Thiyn$buwl nnunnn 5% 50q Innup 50 1078 53900 <

76 33141310 4hnnuypndblu 100dg nnuh 70 1459 102130 <

77 33616000 Yhinnwpndtiu 50dq/d; N10 Wi 40 1837 73480 Q<

78 33141310 “hunnwpndtuh nnunnn 2.5% 50q nnuf 50 701 35050 Q<

79 33616000 Utinwpning 50dg N30 i 50 396 19800 Q<L

80 33620000  [Udjnnhuihu 10dg N100 . i 250 726 181500 <

81 33692000  |Udjnnhwht 5dg N30 | wnuh 50 450 22500 Q<

82 33697000  |Uwntiunin; 50dq N30 wnt 50 126 6300 Q<

83 33642200 Euwjwwphy n/h 10dg N20 wnth 800 108 86400 Q<

84 33622810 Uhdtinhwhu 10dg N50 npwdb 40 781 31240 Q<

85 33620000  |Phunwpnin 2.5 dgq N30 _ winuh 200 570 114000 <

86 33622130 Uhuwpngihgbpht 0.0005 N40 wnth 5 302 1510 <

87 33621110 Swnihnh n/h12.5dg N28 wnug 20 900 18000 QL

88 33612500 Ynpnwpnt 200Ug N30 wnuh 50 1950 97500 Q<

89 33642210 “Yhanluht 0.25dg N40 wnih 40 232 9280 <

90 33620000  [Ywpnhndwguh/h75dg N96 nnup 115 1056 121440 Q<

91 33631610 <hnpnpinprhwghu 100 dg N20 wnnuh 20 850 17000 S

92 33652200 <hnpnpinpnrhwghn 25dg N20 nnih 60 240 14400 QL

93 | 33612500 [dbpngwhpnu n/h 250g N20 i 160 694 111040 a4

94 33642210 Snipnubidhn n/h 40dg N50 nnih 40 217 8680 q<

95 33141200 hunwuwwihn 1.5dg N30 wnuh 60 1230 73800 a4

96 33651102 dhpwuwwdh 40dg N30 wnep | 40 607 24280 qC

97 33692513 Odbwpwan 20dg N30 wnuh 160 390 62400 qL

98 33622310 Swdnwnhnhu 40dg N20 wnup 100 800 80000 qC

99 33612500 “pnunwytiphuh hhnpnpinphn 40dg N20 wnih 35 184 - 6440 a<

100 33692710 UkLwnbluhu n/h N20 plhuwn 80 125 10000 3

101 33614000 L-phpnljuhtu-100dg N100 wntth 35 1553 54355 <

102 33692513 Uwnnpjwuwnwinhtu 20dg N30 wnnih 130 1200 156000 qc

103 33622200 Hwndwpht 2.5dg N100 wnntth 8 1398 11184 q<

104 | 33622320 |8bnniljuy 10dg N50 wnuh 2 500 1000 Qc

105 33651102 Swunpuhdti 20dg nnuh 15 2100 31500 q<

106 33692710 “inwhningntip 750g N30 wnup 60 2087 125220 <

I 107 | 33616000 | Dynihntwgn) 150uq N1 nbnww. | 40 126 5040 ac

I:l:!li',i; 108 33692710 Utipywagnih) 5dg N100 nntth 6 1370 8220 QL

| ||' 109 33692710 Lhwnpngn; Yoy 2,5dg N30 nnh 6 18000 108000 Q<L

{1 110 33692710 Yntinu 10000 N20 wmnu 25 2780 69500 Q<

m 33692710 Uquwphnuphu 50dg N50 nnih 6 5500 33000 QL

12 33692710 UGwnhwptn 4dg N30 innuth 12 2450 29400 QL
Lwipnpunpnp ynipbp U wwpwquwobp 1412434

1 33696800  |Muuwngbt dwwwibuh Gplwydwt ujnie 154) hwin 2 9708 19416 Q<

2 33696800 Mgl dwwwdBuh Shpuwd 15 hwwn 2 9708 19416 q<

3 | 33696800 SDynpngpwdp|iwh dwtqu_)qbu /0730.5 nin 4 43000 172000 4

4 33141200 Utigh phuwn 10 wwpwdbivnp /100 phuwn / wnup 25 6600 165000 S

5 33200000 | Syniynqu /4*100d)/ 400 phuwn nnith 3 5904 17712 Q<
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6 33200000  |tumtupbpht (27100/200@bun sh |7 6360 44520 q<
7 33211700 Uhquijni / 2°100d) UREA - Col 100 phiuwn wnnuh 1 6960 6960 QL
8 33696800  |ALT /2*60/yputinhy 120 pliuwn wnith 1 5640 5640 9
9 33696800  |AST/2760/Uputitnpy 120 phuwn wnuh 1 5640 5640 QL
10 33211300 CRP € nbwywnpy uyfunwlymg / 100 phuwn/ unniih 2 6600 13200 L
1 33200000  |RF Mudwwnnpn dwlnnp /100ptuwy nnup ! 6000 6000 a<
12 33250000 Sniplynu Uuwnp A 1Omi wnnith 4 1098 4392 SYe
13 33200000 | 3njhynt Wunh B 10m nnuh 4 1098 4392 QL
14 33200000  |3nihlyntu Uuwnph AB Sm! wnih 4 2100 8400 QL
15 33200000 3nihyinu Uuwnp D 10mi innup 3 5400 16200 SY4
16 33212200 Unwgnynidtinph fuwnupsutin NS00 hwn 1 16800 16800 Q<L
7 33212200 Mpnwlnpt 96 phup wnnufy 1 37680 37680 Q<L
18 33212200  |TSH /TTG/ 96 plup wnuh 1 27600 27600 QL
19 33793000 | 3huinnghwiwl unupd 1004} huin 2 6960 13920 QL
20 33693100 Unwpluywlul wuywli SOhwwn wnith 60 450 27000 QL
21 33212400 | owdlwuywih 242400 50 hwn nnup 30 780 23400 AL
22 33212400 |Owdyiwwyh 2475004 50 huin huwin 30 1200 36000 ac
23 33200000 | 4nujtin STAT FAX -p hwdwp hww 30 96 2880 QL
24 33212200 npdwlng gilnphniguip hwin 200 81 16200 9l |
’5 B Twjneubjuw] winaduin wihwytnly. 100 10004y, N500 o i 4680 4680 oz
26 33212200 Dwpwyw] wynnuuwin whwbiny. 0-100dly N1000 hwin 2 2988 5976 QL
27 331417 Uhuwituwg wuuwnpl qinpawune abULh hwdwp hwn 300 10 3000 QL
28 33695000 | £{npwuhl lg 200 28380 576000 QL
29 33696800  |Efunih qli 2504 hwin 100 318 31800 Rre
30 33696800  |EYS dwwwyu 110745 hwn 20 2160 43200 G
31 33212200 (gnpjw hwpbp qhubyningpwlwl ulinwup hwdwp qiupe. S 700 3500 Q<
32 33212200 Ugnunwjwl ppnt 5 nuwpw 1 10000 10000 QL
33 33212200 Shwnuthplj 1004y $l 3 6720 20160 Q<
34 33212200 Qtpdwyhu tnwhsh pNLE hun 5 750 3750 AL
Ywnbijhp 760000

7 | ois2200 |Pluqhl nlignywn o | 2000 | 380 760000 | 9<




